KING COUNTY ARTS COMMISSION 2002 SUSTAINED SUPPORT PROGRAM

Attachment B.1

Summary of Recommendations

2002 26 8 1150 1

Name est est	Dist	- /Avaid
Recommended for Funding-Arts Organizati	ons	
911 Media Arts Center	4	\$5,000
A Contemporary Theatre, Inc.	4	\$21,000
A Theatre Under the Influence	10	\$750
Anunnaki Project, The	4	\$1,000
ARCADE	4	\$1,000
Aria Dance Company	7	\$750
Art Star Association	6	\$1,500
Artist Trust	4	\$7,000
Arts and Visually Impaired Audiences	10	\$3,000
ArtsWest	8	\$3,500
Auburn Performing Arts Center	9 & 13	\$2,250
Auburn Symphony Orchestra	9 & 13	\$2,500
Ballet Bellevue	6	\$2,500
Bellevue Art Museum	6 & 11	\$10,000
Bellevue Philharmonic Orchestra	11	\$8,000
Bellevue Youth Symphony Orchestra	6	\$2,500
Better Biscuit Dance	10	\$2,000
Blue Earth Alliance	6 & 10	\$1,000
Book-It Repertory Theatre	4	\$3,000
Cascadian Chorale	11	\$1,000
Centerstage	7	\$2,000
Children's Museum, The	4	\$2,500
Chinese Arts and Music Association	11	\$2,500
Choral Sounds Northwest	8	\$1,500
Cinema Seattle	10	\$11,000
Civic Light Opera	2	\$3,000
Columbia Choirs Association	11	\$2,000
Consolidated Works	4	\$3,000
Crab Creek Review	8	\$1,000
Cranky Destroyers	13	\$2,000
Crispin Spaeth Dance Group	10	\$2,000
d9 Dance Collective	10	\$2,000
Degenerate Art Ensemble	4	\$2,500
Duvall Foundation for the Arts	3	\$3,000
Early Music Guild	10	\$3,500
Earshot Jazz Society of Seattle	2	\$5,000
Eleventh Hour Productions	10	\$3,000
Empty Space Theatre, The	2	\$8,500
Esoterics, The	10	\$3,000
Ethnic Heritage Council	4	\$3,000
Evergreen City Ballet, The	9 & 13	\$3,000
Federal Way Chorale	7	
Federal Way Symphony	1 7	\$2,000
Filipiniana Arts and Cultural Center of WA	1	\$3,500 \$3,500
Freehold Theatre Lab Studio	10	\$2,500
Gallery Concerts	10	\$4,000 \$2,250
[1 10	\$2,250

KING COUNTY ARTS COMMISSION 2002 SUSTAINED SUPPORT PROGRAM

Attachment B.1

Summary of Recommendations

Heart and Soul	Name: 200 - 100 -	Dist	Award
Heart and Soul	Gamelan Pacifica	10	\$3,000
Henry Art Gallery Association	Heart and Soul	2	\$1,500
Highline Community Symphonic Band 8 \$756 Hi-Liners, Inc, The 8 \$1,000 House of Dames Productions 10 \$2,250 Intiman Theatre 4 \$18,000 Issaquah Chorale 12 \$2,000 It Plays in Peoria Productions/SPLAB! 13 \$2,250 Jack Straw Productions 10 \$7,000 Kirkland Arts Center 11 \$4,500 Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$2,200 Langston Hughes Cultural Arts Center 10 \$2,200 Lingo dancetheater 10 \$2,250 Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Maureen Whiting Company 10 \$2,000 Maureen Whiting Company 10 \$10,000 Meany Hall for the Performing Arts 10 \$10,000 Music Works Northwest 11 \$9,000 Nature Consortium, The </td <td>Henry Art Gallery Association</td> <td>10</td> <td></td>	Henry Art Gallery Association	10	
Hi-Liners, Inc, The 8 \$1,000 House of Dames Productions 10 \$2,250 Intiman Theatre 4 \$18,000 Issaquah Chorale 12 \$2,000 It Plays in Peoria Productions/SPLAB! 13 \$2,250 Jack Straw Productions 10 \$7,000 Kirkland Arts Center 11 \$4,500 Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$4,500 LeGendre Performance 10 \$2,250 Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music Works Northwest 11 \$9,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Orchestra			
House of Dames Productions	Hi-Liners, Inc, The		
Intiman Theatre 4 \$18,000 Issaquah Chorale 12 \$2,000 It Plays in Peoria Productions/SPLAB! 13 \$2,250 Jack Straw Productions 10 \$7,000 Kirkland Arts Center 11 \$4,500 Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$4,500 LeGendre Performance 10 \$2,200 Lingo dancetheater 10 \$2,250 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum			
Issaquah Chorale 12 \$2,000 It Plays in Peoria Productions/SPLAB! 13 \$2,250 Jack Straw Productions 10 \$7,000 Kirkland Arts Center 11 \$4,500 Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$4,500 LeGendre Performance 10 \$2,250 Lingo dancetheater 10 \$2,250 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Film Forum		·	
It Plays in Peoria Productions/SPLAB! 13 \$2,256 Jack Straw Productions 10 \$7,000 Kirkland Arts Center 11 \$4,500 Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$4,500 LeGendre Performance 10 \$2,000 Lingo dancetheater 10 \$2,250 Lingo dancetheater 10 \$2,250 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum 10 \$4,500 Northwest Film Forum 10 \$4,500 Northwest Girlchoir 2	Issaguah Chorale	12	
Jack Straw Productions 10 \$7,000 Kirkland Arts Center 11 \$4,500 Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$2,000 LeGendre Performance 10 \$2,000 Lingo dancetheater 10 \$2,250 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum 10 \$4,500 Northwest Film Forum 10 \$4,500 Northwest Girlchoir 2 \$3,500 Northwest Puppet Center 2	It Plays in Peoria Productions/SPLAB!		
Kirkland Arts Center 11 \$4,500 Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$4,500 LeGendre Performance 10 \$2,000 Lingo dancetheater 10 \$2,250 Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum 10 \$4,500 Northwest Film Forum 10 \$4,500 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Kirkland Performance Center 11 \$7,000 Langston Hughes Cultural Arts Center 10 \$4,500 LeGendre Performance 10 \$2,000 Lingo dancetheater 10 \$2,250 Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			7 7 7 7 7
Langston Hughes Cultural Arts Center 10 \$4,500 LeGendre Performance 10 \$2,000 Lingo dancetheater 10 \$2,250 Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$2,500 Northwest Film Forum 10 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Girlchoir 2 \$7,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250	Kirkland Performance Center		
LeGendre Performance 10 \$2,000 Lingo dancetheater 10 \$2,250 Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			7 - 7 - 15 / 7
Lingo dancetheater 10 \$2,250 Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$3,250 Northwest Puppet Center 2 \$3,250			
Literary Celebrations 5 \$5,000 Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Living Voices 10 \$7,000 Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$3,250 Northwest Puppet Center 2 \$3,250			
Maureen Whiting Company 10 \$2,000 Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Max Aronoff Viola Institute 1 \$1,000 Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Meany Hall for the Performing Arts 10 \$10,000 Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250	Max Aronoff Viola Institute		
Music of Remembrance 2 \$2,000 Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Music Works Northwest 11 \$9,000 Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250	Music of Remembrance		
Nature Consortium, The 8 \$1,500 Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Nordic Heritage Museum 4 \$4,500 Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Northwest Asian American Theatre 10 \$3,500 Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Northwest Chamber Chorus 10 \$2,500 Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Northwest Chamber Orchestra 10 \$7,000 Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Northwest Choirs 2 \$3,500 Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Northwest Film Forum 10 \$4,500 Northwest Folklife 4 \$11,000 Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Northwest Folklife4\$11,000Northwest Girlchoir2\$7,000Northwest Puppet Center2\$3,250			
Northwest Girlchoir 2 \$7,000 Northwest Puppet Center 2 \$3,250			
Northwest Puppet Center 2 \$3,250		1	
	Northwest Puppet Center		
			\$3,000
			\$8,500
	One World Theatre		\$3,000
			\$6,036
			\$\pi_{0}\cdot
Orchestra Seattle and Seattle Chamber Singers 10 \$2,500	Orchestra Seattle and Seattle Chamber Singers	10	\$2,500
	Pacific Northwest Ballet		\$50,000
	Pacific Sound Chorus		\$1,500
	Pat Graney Company		\$5,000
Phinney Center Gallery 2 \$2,500			\$2,500
			\$9,000
			\$2,250
			\$2,250
			\$750
			\$1,750

KING COUNTY ARTS COMMISSION 2002 SUSTAINED SUPPORT PROGRAM

Attachment B.1

Summary of Recommendations

Namezes	Dist	Z AWard S
Rakumi Arts	2	
Raven Chronicles, The	10	
Redmond Association of Spoken Word	3	\$750
Repertory Actors Theatre	10	
Richard Hugo House	10	
Sammamish Symphony Orchestra Association	12	\$1,500
Sand Point Arts and Cultural Exchange	2	\$1,000
Seattle Academy of Fine Art	10	
Seattle Art Museum	4	Acres 10 10 10 10 10 10 10 10 10 10 10 10 10
Seattle Arts and Lectures		\$7,000
Seattle Baroque	10	\$3,000
Seattle Chamber Music Society	2 4	\$7,000
Seattle Chamber Players	10	\$3,500
Seattle Cherry Blossom and Japanese Festival	4	\$2,000
Seattle Children's Theatre	4	\$21,000
Seattle Choral Company	. 1	\$2,500
Seattle Classic Guitar Society	2	\$1,500
Seattle Conservatory of Music	2	\$1,000
Seattle Fringe Festival	10	\$4,500
Seattle International Children's Festival	4	\$8,500
Seattle Jazz Orchestra	2	\$3,500
Seattle Men's Chorus	10	\$11,000
Seattle Mime Theatre	10	\$1,500
Seattle Opera	4	\$52,000
Seattle Philharmonic Orchestra	4	\$3,250
Seattle Pro Musica	10	\$3,250
Seattle Repertory Theatre	4	\$35,000
Seattle Shakespeare Company	4	\$3,000
Seattle Symphony	4	\$52,000
Seattle Theatre Group	10	\$5,000
Seattle Youth Symphony Orchestras	2	\$8,500
Seward Park Art Studio	5	\$2,500
Snoqualmie Valley Arts Live	3	\$3,500
SouthEast Effective Development	5	\$3,500
Spectrum Dance Theater	10	\$5,000
Studio East	11	\$7,000
Taproot Theatre Company	2	\$5,000
Theater Schmeater	10	\$2,250
Theatre Puget Sound	4	\$3,500
33 Fainting Spells	10	\$4,000
Three Dollar Bill Cinema	10	\$2,000
Town Hall	10	\$5,000
Tudor Choir, The	10	\$1,500
TURF!	10	\$1,000
UMO Ensemble, Inc.	8	\$3,000
Velocity Dance Studio	10	\$3,500

KING COUNTY ARTS COMMISSION 2002 SUSTAINED SUPPORT PROGRAM

Attachment B.1 Summary of Recommendations

Name series and the series	Dist	- Award &		
Village Theatre	12	\$17,500		
VSA Arts of Washington	4	\$3,500		
Washington Lawyers for the Arts	10	\$1,500		
Wing Luke Asian Museum	10	\$7,000		
Wooden O Theatre	6	\$1,500		
Youth Theatre Northwest	6	\$4,000		
Recommended for Funding-Local Arts Agence	ies in			
Auburn Arts Commission	9 & 13	\$12,000		
Bellevue Arts Commission	6 & 11	\$10,000		
Burien Arts Commission	8	\$5,000		
Duvall Arts Commission	3	\$5,000		
Enumclaw Arts Commission	9	\$8,875		
Federal Way Arts Commission	7	\$12,000		
Issaquah Arts Commission	12	\$5,000		
Kent Arts Commission	13	\$12,000		
Mercer Island Arts Council	6	\$7,500		
Redmond Arts Commission	3 & 11	\$12,000		
SeaTac Arts Commission	13	\$5,000		
Shoreline-Lake Forest Park Arts Council	1	\$14,000		
Tukwila Arts Commission	5	\$5,000		
Vashon Allied Arts	8	\$15,000		
Total Sustained Support Awards		\$944,161		